
 1 

 
 
Item # | Product Name:   #300493 Anchor Cap Mooring Kit 
 
Parts List: Tools Needed: 
1.  Post Attachment (1) 1. Mallet 
2.   Anchor Cap Pin (1) 2. Silicone (optional) 
3.   Metal Anchor Bracket (1) 3. Ratchet 
4.   3/8” x 1 ½” Bolts (4) 4. 9/16” Socket 
5.   3/8” x ¾” Button Head Bolts (3) 5. Cordless Drill & Phillips bit (or Phillips Screwdriver) 
6.   Locking Washers (3) 6.  
7.  3/8” Washer (4) 7. 
8. 8. 
9. 9. 
10. 10. 

 
 
 

 
 

 

 
 
 
 
 
 
 
 
 
 
 
 

Parts Shown: #1, #2, #3 
 

Completed Anchor Pin Kit 



 2 

 
 
Assembly Instructions: 
 

1. Slide Post Attachment into H-channel on Wave Dock. Secure in desired position with a 3/8 x 1 ½ bolt and 
3/8 washer. 

   
 

 
 

 
 

 
 

 
 

 
 

2. Attach metal anchor bracket to the bottom of the plastic anchor pin using the 3/8 x ¾ button head bolts 
and locking washers. 

  



 3 

 
 

 
3.  Insert the plastic pin and bracket into the post attachment and secure with the        3/8 x 1 ½  bolts and 
washers.  Anchor can now be connected to the eye loop on the bottom of the anchor pin. 
 

 
 

 
 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

 
 
 
 
 


